(7 pages)
S.No. 993

08USTA16

(For the candidates admitted from 2008-2009 onwards)

B.Com. DEGREE EXAMINATION, NOVEMBER 2017.

Fourth Semester

Allied : BUSINESS STATISTICAL DECISION
TECHNIQUES

(Common for B.Com.(CA)/B.Com.(CS))
Time : Three hours
SECTION A — (10 x 2 = 20 marks)

Answér ALL questions.

1.  Define Square matrix.

FGIT et — uenFwimi.

2 Define Column matrix.

lyed jemfl — cuanwim.

3.  State the meaning of Arithmetic Progression.

gl () Qgm_fer Qurmeners snmis.

Maximum : 75 marks

10.

Write down the Lagrange’s interpolation formula.

Qesgrerluden - Qe sdsmaqsatar  &S5HTEMS

TIPS

- What is the objective of Probability?

Blapsseien @DlsCamer eremen?

Define Mathematical Probability.

| salls Hlepsse) aumrun.

» Explain the term Programming.

@L'.L_‘LIS)L_Q) eTanm LSS 6denéEs.

Explain the term basic solution in L.P.P.

L.P.Pf-e'u SigliueL §rey e LSSMS 6N6TéEs.

Explain ‘Transportation Problem’.

‘Curs@eursg samsdaanr allersa@s.

Define optimal solution = in Transportation
Problem.

@und’;@mrj@g} samsdle 2 &6hs Srellaner cuanwim.
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SECTION B — (5 x 5 = 25 marks)

Answer ALL questions.

IfA=O b andB=’7 e find the
1 4 4 5

2 1
value of 24 +3B.
2 ¥ .63
A= i i ooy B= crafléd
Tl |

2A + 3B -ar iy srawms.

Or
Find the inverse of the matrix to be given.

QsmRssiLl L SaisE soad) i

sarr®lg.
1 0 -4
=8 2.8
Ol

Sum the following series :
Spanamibd AFT_(HEETaT s (HSME ST :

T2+70+68+ - +40.

Or
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(b)

(a)

®

@

(b)

The values of x and y are given in the table.
Using Lagrange’s interpolation formula find
f(x) when x=10. -

X wHomb y-er wHULSET L euemeanTudd

- Gam@ssiinl (Hererer. Qavdmersluden Qen._s0amae -

Gednsdear LwaLESH x =10 egd Gung
f(x) -ar wHlienL saTH L. :

X 5 6 9 1k
%) : 1A e 14 16

Explain Conditional Probability.
Blubgamer Blapsaeiaman aflersEs.

Or :
Evaluate P(AUB), if 2P(A)=P(B)=5/13
and P(A/B)=2/5.
2P(A)=P(B)=5/13 wpmw P(A/B)=2/5
arafléd P(A U B)-an wdlliy sreums.

Solve by using Graphical method.
QUENTLIL. (P& APeOLD SiTe STehrss.
Max. Z =3x, +9x,
S.to.: x +x,<8
X% +2x, <4
X520 20
Or

What is Big M method? Explain. .
Quiflu M wpeop erempmed ererean? ellersss.
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'15. (a) Solve the following Transportation Problem
using North West Corner rule.

&Cip Qar@®&sLuL_[Herer Curs@eursg
sasHenar au_GnE epae elfaws e

Sés. : : :
Destinatidn Supply
7B 2
Peian, b0 200103 3
B 4.6 5
Demand. 4 1 5

Or

(b) Solve the following Transportation Problem
using Least Cost method.

&CLp Qasr(RéEsiul(Herer Curs@eaurss

. samsSlevan  as  @GophHs  SlLbselo

p@DliLly §Tés.
Destination
Di "Dy Ds De Capacity
O1 1 2 3 4 6
Origin O: | 4 3 2 0 8
O | 0 2 2 1 10
Demand 4008 s 6 24
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~ SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

16. Solve the following equations using Cramer’s
method.
Symofler  penmenwil Lwetu(Hi&S Epsramid

FLETUTHE®ET STés.

2x+y—2=3
x+y+z=1
x-2y-3z=4.

17. From the following table, estimate the number of
students who obtained marks between 40 and 45.
(Use Newton’s forward interpolation formula).

Qarp&siul_Herer L euemanriier @mbg 40-&@W
45-5@b Qe Cw wHuQuearser GuHm oTeRTLTEEaT
san®ly. (Hluliear parGamas QoL sbsmed

efflerws LweTLHGS@|D) ‘ ’

Marks : 30-40 | 40-50 | 50-60 | 60-70 | 70-80

No. of students : 31 42 ) D i s 31

18. State and prove Addition theorem of probabilities.
Bapgsaien s Lo Coppsms apdl Hipeys.
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Solve the following L.P.P. by Simplex method.

£Cp Qsr@ssiul @erar LP.P.-g Sbliersey penp
epeld §1és. '

Max. Z =2x; +4x,

S.to: 2« +3x, <48
x, +3%, <42
Xkay =21

Xy Xy 2 V).

Solve the following Transportation Problem by
VAM. »

VAM @ep epobd Spsrapid  Curé@eurssl
s aan Si&Ese]. :

Wi W. Ws Wi Available

F 249 a8l B el 7
Fy 70 80 40 - 60 9
F;s 40 8 T2l 18

Demand 5 -8 7 14
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